Card 64

A football top costs £3.95
Shorts cost £2.95
Socks cost £2.10
Megan buys the whole strip (top, shorts and
socks)
How much change will she get from £10?




Card 1

A farmer has 100 animals.
40 are sheep and 20 are cows.
The rest are pigs.
How many pigs are there on the farm?




Card 40

A bus is carrying 33 passengers.
At point ‘A’ 5 people get off the bus.
At point ‘B’ a further 15 passengers get onto
the bus.
How many passengers are on the bus now?




Card 43

Hamish wins £10,000!
e gives £7,500 to his family.
How much money does he keep for himself?




Card 2500

What is the missing number?
?+100 =200 -50




Card 50

David has a secret number.
He adds 7 to it and then takes 10 awau.
The total is 13
What is the secret number?




Card 16

The rule for the following sequence is ‘add 25’
What is the next number?
5, 30, 55, ?




Card 80

Lucy has £130
David has £230
Kin has £215
How much money do they have altogether?




Card 575

Tamas is saving up for a new computer.
He needs £500.
e has £140 in coins and £140 in notes.
How much more money does he need to
save?




Card 220

Calculate: (200-192) + (500-493)




Card 15

Kate has 100 red, blue and yellow marbles.
63 are red.
15 are blue.
How many are yellow?




Card 22

A school has 208 pupils.
14 are qirls
How many are boys?




Card 94

Jason needs to collect 250 stickers in 3 weeks.

He collects 102 in week 1

He collects 84 in week 2

How many does he need to collect in three
weeks?




